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(vi) Write down the labels of the formatting options that have been used for the 9
sentence formatting. L ]

om0 cnem 0.5 78
P Q R S

R ¥V 05060 018 eCE B 18 80 - cmen 0
* gfed etd¢n emanCHsID.

B88umu B dmSewsT:
1 89,680 ¢80 ¢;2®
2 gnaidc ydesw(font size) ;8 B8O (Bwrc BBO), meurw ©zId® (bold B8
(italic), 923 96 4:2® (underline) g2 oces DOBEwWS! 8OO
. Write down the label of the slide layout that can be use n title, 1
(vit) (a) some text bullets and an image. [1]
C
* Coelaced gfuc evfew emmcmzﬂA
(b) Write down one good charai ic w.r.t.the maximum number of text lines [1]
that should be placed on a sli
B0 e 9 2l 088 v 5-9 ¢5d Bw gnw. v b~ G200
S 5+9 s»fg
BEwrn B SwmEvw L= C\ﬂ/)Q
5,6,7,%9 Q

5/6/7/8/Newd 9om 861t BE OO & voesw:s

e text book, the maximum number of text lines on a slide is recommended
n the range 6-9. However, 5 is also accepted in some references.

1
(viii) [ Writexdo®n the replacements for P and Q of the flowchart. | (2]

& om0 Cn € 1 7 G:

L 4

\ P=0 Q=5

6 * P ew Q odacde gulud e 0mnucmsis.

B88wnvA B8mFuwsy:

0and5/0e» 5 w
0,5

Org e
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Do B4

Why is it important to get clear/exact customer re
i uirements bef aving the
(ix) first step of the waterfall model? * ents befure leaving the 2]

8w 18 pmaBledd, Eco Bubdd 4160w ABOO eud vxf Budon wd®ubam »c ynebd. edecw
vidBed ©08dn MO qd®y BBD vud ¢beLm Ve RS LdESH BC ¥aeDd.

dotd eznhDevis. am0as vddRwn wdEdn B Be® §D6Hm® 6y vud du edntd HBOD
43 el 180 Beom a».

vuD GEeDD E08sT B20® d»d cHe 2

+ 8o @8 gmiBed?, 8cn Bubdds ¢:60w A8 ous on Budss sdybe mc gaw /

o8B pmaBed? wdbdn uvddBe gdwn el v mnl vBe: HEOD WBwWD
L108®

* 9162 2DaHN BY6 PIHO 8B DS BB gun 8¢ ¢dm BO

(x) [ Draw the expected output of the given HTML code fragment. | (2]
—HTML 24 €25
682 is a markup language ! : R -
6 ‘SQA@@ —=Java G s
@OS;M mapmgmmminglan 6300 Q7L _
—2SQL | by ’L)Gg
TAVA op! be is a query langu
é&m’b plowwrles
vum ¢zt cRE ogTD.
A: 88 goc o¢m - CRG 1
B: e50» gocs - cRg 1 («--4)

% “HTML" Qm SQL" 016, 988 D 610 gulud e¢de erLEHTID.

80 - em60 m esiHebin noHfs e - CRGE 3e® vdda / g.eva.u (t.08) Bema - 2022(2023)/ evewidn GiRed ne 9RO qio 21


https://www.ict-with-udula-priyankara.online/



https://www.ict-with-udula-priyankara.online/

O® 64535753@@5';7%8 onBond

(iv) | Write down the correct formula that needs to be entered in cell P3 for correct copying. | [2]

= (03/0%$16)*100
ewd

= (03/$0816)*100

* a5ed ewen evnecmsIH.

v) From line and pie charts, which is more suitable to compare the changes 2]
of solar power generation of those countries during 2010-20217 Justify answer.

@58 gedcad / line

06 SmEme: B»Eed® BSuwm OO e 800 ne edne sonzigme HBSD
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A: 0583 s - ey | \

B: 633036 &mbmn (b5 808257 Omat)
o DedDHu® BBvwm OO WG, e -
—  oDxne 8® wewslime 000 ey 368,/ ¢aim 200 BBvwn eewssigme
ABBOD 368y @81 yeI8.

o DES 3O EONEOD O HwO 8358y @8 yedsB.
o 030w e t3oe © B8O gagey DO yedasB.
o DO yedds BY O 8¢d®

©0u:

008 310880 BBows g1o (6003 12 = wew Dud 125 ). O D=y edd eSS0
08 ewsy 12 © gerc De36 12 8 e® g0wm0® Om® ydded od€ 12 o yebamw
me mBe. »Ys, 6003 12 0 gec Busd 12 8 Bug® gows’ yedemns B8O ot 58 OO
16wt 18w e,
. 098 ydme 88 "2010-2021 mcw ne @O OO yw@ AceB cFveme’’ o
80w A0 semstm. omed ednd, dv O dodn cOn M gw» C4 gz 5O
: @ &0 BededBwd wem §8diy 12 gowsi), 88D DO ydide DB yey @O.
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(iii)

Raj (S150) joins school (for Grade 10) and is selected for Cricket team on 25/64/2023.
He borrows a cricket bat (005) on the same day at 14:00:05 hrs. (2]

Write down the new records to be added.

om0 cnG 1 9 8zT:

4 ws 22b
Student — (S150, Raj, 10) ¥ 5 rob 2

g A
Borrowed_Items — (005, S150, 25/04/2023 14:00:05) AJULL ~ 20=r@ - @""2_”” Sk
" 2 . S5

VY Hodn gfus dxnsess gdased. E;,)w’;”
V 3950 Dg/edendd Bw 15® R d. @cﬂo’)
* galuc ot (case) esw @B (space) ¢l eENBEHBID.

* 0@ed8 g16wd edendd Buwr B0 ¢ BEw® wiBe.

(iv)

Which tables need to be joined to find the names of students who borro tems [2]
on 05/04/2023? The type of item borrowed must also be shown.

Borrowed Items
Item
student

V Ccneg 2 wew 8ug D@ gdased.
* 0 gfuc Bmmes o¢de enucHSID.

* gz80 evde (case) ew @ (space) e¢d. @ e

b by 2B M.

88w B dwuws:

8wg D9 »®

\v

80 - emi6nd v oxiHedim mxfume - CREG
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ALTERNATIVE 2Z:
BEGIN
INPUT TD, D, VF, BF
15 T g= & THEN
DISPLAY “bicycle”
ENDIF
IF 5 < TD <= 15 THEN
IF D < 1 THEN
DISPLAY "bus"
ELSE
DISPLAY "school van"
ENDIF
ENDIF
IF TD > 15 THEN
IF VF < 2*BF THEN
DISPLAY "school van"
ELSE
DISPLAY "bus"
ENDIF
ENDIF
END @
ALTERNATIVE 3: Q
o BEGIN \ ' —A Bagu/eud
W\ﬁd\’ INPUT TD, D, st»«v\ti“’"” e s B
Q/b | - TMPW}'W&
= IF TD THE C.
< : i - M) condidis
e cyete B )
05\‘9 OU"‘P““‘
< TD <= 15) and (D < 1) THEN E{ v
2% BF PLAY "bus" F
2% BF Ga
«Bv;a IF (5 < TD <= 15) and (D >= 1) THEN
lCBF) xw%; DISPLAY "school van" H - Ay iisa)
= ] S ¥ PN WP
= IF (TD > 15) and (VF < 2*BF) THEN e
DISPLAY "school van" SATE 5EHN
ENDIF Rdentedicn 0dy
>:} b IF (TD > 15) and (VF >= 2*BF) THEN TREN 7hud 20
=z DISPLAY "bus"
ENDIF
=& X
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5. (i) [ Match the descriptions iabelied P - 5 with the correct terms from the jist. | 12]

om0 R 0.5 9 8=T:

P —» HTTP

Q — URL

R — 1P 88xmw / IP address
S —» SMTP

* gxfud edqs exnecHEID.
v
Label S

(ii) Choosing from the list, write down the correct example suitable for each of the labelle
items A to G.

A — 286 eyl / WordPress

B — k/lk ——
C = owSecnnstd /[Firefox

D — qoc /Google

E — 080& /Twitter

F — IaaS

G — PHP

sun gEedn 888 Cra 88noxn. \

2n® BD108 50 - cR 2

won BOGE 20 - e 1.5

4-53 B8 50 - e |

2-3 8 BO68 50 - cmew 0.5
L nd @0y M-
* gqulec eriw 6B :

L__Algbl %0

6\\
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6. (i) Explain the reason why vector files are more suitable than raster files to store
images like institution logos that frequently need resizing. (3]

626308 8w Bfud 08z = gi». 28 g4nd OO 98 Sedvewrs? Bmc md» 89,
Bifes@ 9Bmw 09188 »08z Bmg yodnos yoh 88ed. 00x08 v8m Bfud
985 38, B0 GO Omm 8NDE s dnewst V&EBOW Wdnd, wa ev!

01 053 OO Omn Bedst BEDr1wmv »6 f1B. 6857 qqwed Dstesy @eIslOm®WwIDW w08
290 8956 Bmnc (evd Btd) »E B A08. edecw Bnd yDiwmw ednS B3O gdas

0 Ba¥n)S gm0 0008 cmiyy O 358 @O.

son fedn 888 ca g BE»0xTn.

é:_g;ﬁ_a& @B 85w 0823 ;@ a1 - CWG |
B: 608 geBmaxs damg me 89, Bfwc §@ O ¢od ®Bme 02081088 @0 - ¢
C: 0008 giBmwst 0&nOs 8dnde / @880 / D25 &m0 SSe®st BEDIx

00 03000 yB ezned s CaA |

(i) (a) Explain how you would use the interface options selecting Tthose labeled A-F 2]
to remove the two silent portions at the beginning and of song
D 82 26, 8 0B @ @296 endd oY1)
son quseds v88 cnq 8850sT. \ \
A A ANV = 1
A: B3 0B ¢z 620006 eI MBS - ) th/) 5
B: E S8 880 - cmyeg 1 (¢—- A 2 »co 7
v A, D &v E 96 005 956 eCaE Bwr Bod 50, 306 G Ca» 050esD.
vV 88nd e D esw E 88 va S 30105 e0ed.
* oCACOC gfud piw eaBCHBIS.
% D e E eEacd 2239380 ¢ Bwx» wiBw.
(b) Write down the label of the interface option that you will use to play your 1]
modified file. |
0\
% B ecdaced gBmnmnas 4180 ¢ BEun vifa.
31
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7. (i) [ Match descriptions labelicd A-D with the correct terms from the list. | 2]

om0 CR<q 0.5 87

A—8
B—4
C—-5
D—3

* ecacoc glud obiw esneEmEID.

Do you agree to discard Sunil’s computer and buy a new one as the existin
has become slow? Explain.

(ii)

BEo» v oudndis 00080 88nwmmw 9bn 80 dBwus Ox ¢ B gegOBOCO

¢ Omn 00, 882 oWy B vBowmmw O5I¢®® Oy gi1v. IO B88wd® ewudw
.
vun geds vB caw BEnoss. A
A o> - GG 2
B: 953¢0:8 800 e¥n g1» - 4 1 \
C: 000 odnst owiws A S0 BEL® @ 4 cnal
8¢y BEnS vwn 88§ »iB 8nsim.
5166 0D0wd 88omme 00n 8 §86; BO v B PVHWRO /BB &he yrw."
OB BEno»d, B e C g 1 9187 8¢ e 2 B ogis.
i fe melhJ®to avoid plagiarism when reproducing information [2
(i) | 5 om the IniSede 1 ]

0 9288 B0 ¢ gr¥nsonn L1 dEO B vy grinloned Geige gzt B8O

spn D853 @3® OO Crag 2 B8nosin.
8 308 / citing

.
\ ¢ 00 Wd 8@ / quoting
6 ¢ 08D utdO / referencing
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